R

D SONDER-Grindtec

O OFX
T

TOOL GRINDING S+ 4718




Precision Tool grinding

Hydr. expansion chuck for tool grinding Machine
- 1S0 50, MT & Flange Mounting

Grinding wheel Arbors

I—-Il-cg_ I:CID'.I:ILI-I Application examples

Automatic pressure build-up for
tool grinders with direct feed

Working pressure P =70 bar

Torque Mt = 150 Nm
Clamping diameter g =20mm

Grinding Wheel!
@120 !

e [——

C
e

——— r |
s did2 d3

[
\Clamping screw initiation under 90°
. user—friendly




OK

T HATIE §

Mol

£ - =5 oSN

o -
T AN - 2012 RIZ RUH -
Radially Adjustable Zero Hydraulic Chucks ISO 40 /50 Manual Clamp L *am 4
Uttt BT GI4L7| - QA 04070 anaicome
Hydraulic Chucks - Tool grinding M/C L
MT3/4/5 Manual Clamp 6
S G477 HOo]H - RN
MTB-Hydraulic Chucks/ Tools
ANCA m Automatic Clamping EWAG & EWAG Manual Clamping 7
HAWEMA % Automatic Clamping 1SOG y fso;r Automatic Clamping 8
. [l
SAACKE  BERSUFY Automatic Clamping SCHUTTE ~ Sehiitte  aomatic Clamping 910
ULMER
SCHNEEBERGER Manual Clamping +REINECKER ™™™ Automatic Clamping 1011
WALTER I_?VALTER Automatic Clamping WHEEL & Tool Setting 12
'?robri—-! % E—lE HYD Chucks Reducer 13
DEI %I 9-' E-I 'PI’OI:I- Ol'H'l Hydraulic Mandrel Arbors
Hydraulic Mandrel Arbors — HSK 63A HSK63C 14~15
Hydraulic Mandrel Arbors - ISO 50 / Cylindrical 16~17
_CT;_?‘ g*—||'7 | j.E-l'o|_| Iél "%él Ol-H-l Grinding wheel Arbors
ANCA X 18
HAWEMA roter 1SOG /a0 19
Rollomatic R roLLomaTIc' SCHNEEBERGER SCHNEEBERGER 20
ULMER + REINECKER ~ ®uLwvs .
WALTER I_VVALTER 22
HSK -E 23~24
S AA7| O”IE| HSK Tools
Intermediate Sleeve MT — HSK ;Z

Intermediate Sleeve ISO 40&50 - HSK




Tool Grinding M/C Hydraulic Chucks - Zero ])SONDER

1 14 - Iadjustment dimension

13

— —

£Clamping screw
11

-

Code No. dq do ds lq Iy I3 g 5 g G
SK40-ZHC20-115 20 42 | 862 | 115 | 959 | 52 | 10 47 | M12x1 M16
SK40-ZHC25-120 25 42 | 682 | 120 | 100.9 | 58 | 10 3B | M12x1
SK40-ZHC32-135 32 54 | 852 | 1356 | 1159 | 64 | 10 42 | M16x1
SK50-ZHC12-110 12 32 | 437 | 110 | 909 | 47 | 10 59 | M10x1 M24
SK50-ZHC20-110 20 42 | 682 | 110 | 909 | 52 | 10 47 | M12x1
SK50-ZHC25-110 25 42 | 682 | 110 | 909 | B8 | 10 46 | M12x1
SK50-ZHC32-110 32 54 | 852 | 110 | 90.9 | 64 | 10 42 | M16x1

Tool Grinding M/C - Hydraulic Chucks-90

Clamping screw initiation
under 90°: user—friendly 13

\"‘ ha
dTIdede

— = -

\. v,

Code No. dq do d3 I Iy I3 G

SK50-SHC20-110 20 | 29 42 | 110 | 165 | 41 | M24
SK50-SHC22-110 22 | 31 4 |1 110 | 165 | 42 | M24
SK50-SHC25-110 2% | 34 46 | 110 | 160 | 42 | M24
SK50-SHC32-110 2 | &2 54 | 110 | 160 | 46 | M24




Tool Grinding M/C Tool Holders-ISO 40 & 50 DSUNDER@

ISO-40& 50 Manual Clamping

Code No. dy | dp | dg | dp | b | 2] 2] ow g G
max. | min.

SK40-GHC20-110* 20 | 28 | 42 50 | 110 | 100 | 30 | 41 30° | M10x1 | M16
SK40-GHC25-110 25 | 35 | 50 60 | 110 | 80 | 30 | 40 M10x1
SK40-GHC32-110 32| M | 54 60 | 100 | 80 | 40 | 56 M16x]1
SK50-GHC06-095 6 | 15 | 36 60 | 110 | 43 | 29 | 55 30° | M5 M24
SK50-GHC08-095 8 | 17 | 38 60 | 110 | 43 | 29 | 55 M6
SK50-GHC10-095 10 | 19 | 40 60 | 110 | 43 | 29 | 55 M8x1
SK50-GHC12-095 12 | 215 | 365 | 60 | 110 | 50 | 34 | 55 M10x1
SK50-GHC14-095 14 | 235 | 44 60 | 110 | 50 | 31 60 M10x1
SK50-GHC16-095 16 | 255 | 465 | 60 | 110 | 53 | 33 | 60 M12x1
SK50-GHC18-095 18 | 275 | 485 | 60 | 110 | 53 | 33 | 60 M12x1
SK50-GHC20-095 20 | 29 | 42 70 | 110 | 95 | 30 | 41 M16x1
SK50-GHC22-095 22 | 30 | 44 70 | 110 | 95 | 32 | 43 M16x1
SK50-GHC32-095 32 | M | 54 70 | 110 | 8 | 45 | 56 M16x1
SK50-GHC06-140 6 | 15 | 36 60 | 110 | 43 | 29 | 55 30° | M5 M24
SK50-GHC08-140 8 | 17 | 38 60 | 110 | 43 | 29 | 55 M6
SK50-GHC10-140 10 | 19 | 40 60 | 110 | 43 | 29 | 55 M8x1
SK50-GHC12-140 12 | 215 | 365 | 60 | 110 | 50 | 34 | 55 M10x1
SK50-GHC14-140 14 | 235 | 44 60 | 110 | 50 | 31 60 M10x1
SK50-GHC16-140 16 | 255 | 465 | 60 | 110 | 53 | 33 | 60 M12x]1
SK50-GHC18-140 18 | 275| 485 | 60 | 110 | 53 | 33 60 M12x1
SK50-GHC20-140 20 | 29 | 42 70 | 110 | 95 | 30 | 41 M16x1
SK50-GHC22-140 22 | 30 | 44 70 | 110 | 95 | 32 | 43 M16x]1
SK50-GHC32-140 32 | M 54 70 | 110 | 85 | 45 | 56 M16x1
SK50-GHC40-140 40 | 52 | 70 70 | 130 | 115 | 73 | 110.9 M16x1
SK50-GHC50-140 50 | 62 | 78 78 | 130 | 82 | 82 | 110.9 M16x]1




Tool Grinding M/C Hydraulic Chucks—Morse Taper I)SONDEﬁ

Morse Taper
\. V,

Code No. d1 d2 d3 d4 |1 |2 |3 |4 |5 a

MT3-GHC10-063 10 30 27 50 63 44 | 24 24 24 10°
MT4-GHC20-065 20 42 29 55 65 50 | 52 95 35 25°
MT4-GHC32-099 32 60 56 60 99 855 | 645| 645 - 10°
MT4-GHC42-113 42 - 76 80 | 1125 | 106 | 72 85 - 10°
MT5-GHC10-100 20 42 38 75 100 805 | 52 150 58 10°
MT5-GHC22-060 22 31 - 65 60 305 | b2 135 - 45°
MT5-GHC22-120 32 44 32 78 120 1005 | 52 165 80 20°
MT5-GHC25-100 25 50 46 75 100 80.5 | b8 150 51 10°
MT5-GHC32-088 32 60 56 75 87.5 81 645 645 60 10°
MT5-GHC40-100 40 70 66 75 100 805 | 72 72 65 10°
MT5-GHC50-120 50 78 74 78 120 | 1005 | 82 82 100.5 10°




ANCA Tool Grinding M/C - Hydraulic Chucks

ANED.

CNC MACHINES

Initiation for
ANCA Machines
(similar to SK50)

LAutomatic Clamping

Dk

®

R

Code No. di | dp | d3 | dg ds | X 1 Iy I3 g | 15 g

SK50-AHC12-112 12 | 215 | 365 | 42 | 65 62 | 112 | 50 | 96.2 77 | 375 | M8x1
SK50-AHC20-082 20 | 28 | 42 | 605| 1016 | 16 | 82 | 66 | 608 | 41 | - | MI6x1
SK50-AHC20-112 20 | 28 | 42 - | 65 17 | 112 | 95 | 962 77 | - |[M16x1
SK50-AHC22-112 22 |30 | 44 - | 65 17 | 112 | 95 | 9.2 78 | - |[M16x1
SK50-AHC32-112 32 | 40 | 54 - | 65 17 | 112 | 95 | 962 87 | - | MI6x1

EWAG Tool Grinding M/C - Hydraulic Chucks

Y - 2 -
- EWAG Clamping screw 50

| % 12 mak., N

Manual Clamping n -
Code No. dy | dp | dg | X I 2 2,

max. min.

HSK63C-GHC06-113 6 15 30.5 69.5 112.5 43 25 78
HSK63C-GHC08-113 8 17 325 69.5 1125 43 25 79
HSK63C-GHC10-113 10 19 34.5 62.5 1125 50 28.5 79
HSK63C-GHC12-113 12 215 | 36.5 62.5 112.5 50 285 79
HSK63C-GHC14-113 14 235 | 385 60.5 1125 52 28.5 80
HSK63C-GHC16-113 16 255 | 405 58.5 1125 54 30 81
HSK63C-GHC18-113 18 | 275 | 42 585 | 1125 | 54 30 82
HSK63C-GHC20-113 20 28 42 56.5 112.5 56 30 82
HSK63C-GHC22-113 22 30 44 56.5 112.5 56 32 83
HSK63C-GHC32-113 32 40 54 51 1125 61.5 45 85




HAWEMA M/C - Hydraulic chucks mSONDEﬁ

.
HAWEMA
. . I
Automatic Clamping e -
\. J/
| [
Code No. d d d d | 2 2 | W G
L 2 3 4 L max. | min. 3
SK50-HHC06-069 6 23 26 b4 69 140 37 72 30° M24
SK50-HHC08-069 8 25 28 54 69 140 37 72 30° M24
SK50-HHC10-069 10 27 30 54 69 140 42 72 30° M24
SKb60-HHC12-069 12 29 32 54 69 140 47 72 30° M24
SK50-HHC12-090 12 | 2156 32 32 90 50 | 28.5 22 30° M24
SK50-HHC14-069 14 | 235 34 54 69 140 47 72 30° M24
SK50-HHC20-069 20 28 42 b4 69 140 52 80 30° M24
SK50-HHC20-090 20 28 42 42 90 64 30 30 30° M24
SKb60-HHC22-069 22 32 42 54 69 140 59.5 80 30° M24
SKb60-HHC22-090 22 32 42 -= 69 110 59.5 90 -= M24
SK50-HHC32-069 22 30 44 44 90 64 32 30 30° M24
SK50-HHC32-069 32 40 54 54 69 140 62 120 -= M24
SKb0-HHC32-090 32 40 54 54 90 64 45 70 30° M24
ISOG M/C - Hydraulic chucks
{ B |3 _ N
14
’SOG’ In_iti%'qigﬂohme -
(simianterSX&D) 250
|
g =
= “ [Boosterstarker X 9 1
Automatic Clamping : R :
\ 7
Code No. di | dp | d3 | dg| d5 | dg | x bl | 3] 4 |5 g
SK50-IHC12-080 12 215 | 365 | 42 65 70 26 80 54 78 53 | 375 | M8 x1
SKb0-IHC20-080 20 28 42 - 65 70 26 80 54 78 | bbb - M16 x 1
SKb0-IHC22-080 22 30 44 - 65 70 26 80 54 78 | 56.5 - M16 x 1
SKb0-IHC32-090 32 40 54 - 65 70 26 90 64 78 | 61.5 - M16 x 1
SK50-I1HC32-140 32 50 54 - 65 70 | 775 | 140 | 62 | 138 | 120 - -




SAACKE M/C - Hydraulic chucks

Dk

R

SAACKE s N
;GF{OUP’ 13
!
G
I
Automatic Clamping o "
\. J
Code No. dj dsg dg dg It ) I3 W G
SK50-SAHC06-140 6 | 26 | 54 | 69 | 140 | 37 72 30° M24
SK50-SAHC08-140 8 | 28 | 54 | 69 | 140 | 37 72 30° M24
SK50-SAHC10-140 10| 30 | 54 | 69 | 140 | 42 72 30° M24
SK50-SAHC12-140 12 32 | 54 | 69 | 140 | 47 72 30° M24
SK50-SAHC14-140 14| 34 | B4 | 69 | 140 | 47 72 30° M24
SK50-SAHC20-140 20 | 42 | 54 | 69 | 140 | 52 80 30° M24
SK50-SAHC22-090 22 | 42 | -- | 69 | 110 | 59.5 | 90 - M24
SK50-SAHC22-140 22 | 42 | 54 | 69 | 140 | 595 | 80 30° M24
SK50-SAHC32-140 32| 54 | 54 | 69 | 140 | 62 | 120 - M24
SAACKE M/C - Hydraulic chucks
;SAACKE’ ( — i3 _ )
GROUP

(L1

;=

Automatic Clamping T x . lemay -
\ - - )
| |

Code No. dy | dp | dg |dg| X I mgx. 2 11 Iy

HSK63C-SAHC06-113 6 15 305 | 38| 69.5 | 1125 43 25 455 | 355
HSK63C-SAHC08-113 8 17 325 | 38| 69.5 | 1125 43 25 455 | 355
HSK63C-SAHC10-113 10 19 345 | 42| 625 | 1125 50 285 | 375 | 375
HSK63C-SAHC12-113 12 215 | 365 | 42| 625 | 1125 50 285 | 375 | 375
HSK63C-SAHC14-113 14 235 | 385 | - | 605 | 1125 52 285 | 40 -
HSK63C-SAHC16-113 16 255 | 405 | - | 585 | 1125 54 30 45 -
HSK63C-SAHC18-113 18 275 | 42 - | B85 | 1125 54 30 50 -
HSK63C-SAHC20-113 20 28 42 - | 56,5 | 1125 56 30 57 -
HSK63C-SAHC22-113 22 30 44 - | b6.5 | 1125 56 32 57 -
HSK63C-SAHC32-113 32 40 54 - | 51 1125 61,5 45 57.5 -




SCHUETTE M/C - Hydraulic chucks nSONDEﬁ

Schiitte .
N

i
-
dl d2 d3
I

Automatic Clamping

\, J

Code No. dj do d3 Iy I I

FLSC96-GHC12-090 @12 | 215 | 36.5 90 70 45
FLSC96-GHC20-090 220 28 42 90 70 45
FLSC96-GHC22-090 @22 30 44 90 70 45
FLSC96-GHC25-090 225 30 44 90 70 45
FLSC96-GHC32-090 @32 40 54 90 70 58

SCHNEEBERGER M/C - Hydraulic chucks

'd N\

Manual Clamping | M

\.

Code No. di |da | W | Iy I3
SK50-GNHC20-110 20 |42 | 110 | 80 | 60
SK50-GNHC20-110 32 |54 | 110 | 80 | 75

10



ULMER + REINECKER M/C - Hydraulic chucks DSUNDER@

EHULMER - z -

WERKZEUGSCHLEIFTEGHNIK

\. J

Code No. di | dp | d3 I )
URFL120-GHC06-049 6 | 165|435 | 37 | 49
URFL120-GHC08-049 8 | 185|435 | 37 | 49
URFL120-GHC10-049 10 | 205|435 | 42 | 49
URFL120-GHC12-042 12 | 23 435 | 42
URFL120-GHC14-047 14 | 25 | 435 | 47
URFL120-GHC16-052 16 | 275 | 435 | 52
URFL120-GHC16-051 16 | 40 |540 | 51
URFL120-GHC20-052 20 | 32 | 435 | 52
URFL120-GHC25-058 25 | 37 |435 | 58
URFL120-GHC32-062 2 | 62 |565 | 62

ULMER + REINECKER M/C - Hydraulic Chucks / flange + lock

with additional radial locking for reducers

Code No. dy do d3 dy o
URFL120-GHC12-42S 12 29 42 40 52.8
URFL120-GHC12-37S 20 22,5 365 | 40 | 48
URFL120-GHC12-54S 32 4 54 51 59.5

11



WALTER M/C - Hydraulic chucks mSONDEﬁ

T
w WALTER 14
Initistiofinahme
(simfidamb §KE0)—

~ia—

dl d2 d3 d4 d5

P 1 |

Automatic Clamping n
\. V,

Code No. dq do d3 dg dg X I ) I3 Ig g
SK50-GWHC12-059 12 215 | 365 | 45 | 100 9 59 50 46 33 M 8 x 1
SK50-GWHC20-067 20 28 42 50 | 100 7 67 60 54 41 M12 x 1
SK50-GWHC22-074 22 30 44 53 | 100 7 74 67 61 43 M12 x 1
SK50-GWHC32-079 32 40 54 57 | 100 7 79 72 66 56 M12 x 1
SK50-GWHC06-110 6 15 365 | 45 | 100 | 67 | 110 43 97 84 M b
SK50-GWHC08-110 8 17 36.5 | 45 | 100 | 67 | 110 43 97 84 M 6
SK50-GWHC10-110 10 19 365 | 45 | 100 | 67 | 110 43 97 84 M 8 x 1
SK50-GWHC12-110 12 215 | 365 | 45 | 100 | 60| 110 50 97 84 M8 x 1
SK50-GWHC20-110 20 28 42 50 | 100 | 50 | 110 60 97 84 M12 x 1

Tool Grinding M/C — Wheel & Tool Setting

alfa—set 23/44

alfa-set 23 g

12



Hyd Chucks Reducer

D SNDER

Code No. |d dq I3 Iy |l Code No. ddi Iy Il || Code No. d d Iq ly || Code No. d dy I b
GRC12-03M |12 3 44 2 || GRC20-03M | 20 3 50 2,5 || GRC25-05M | 25 5 57 25 || GRC32-06M 32 6 63 25
GRC12-04M 4 GRC20-04M 4 GRC25-06M 6 GRC32-08M 8
GRC12-05M 5 GRC20-05M 5 GRC25-08M 8 GRC32-10M 10
GRC12-06M 6 GRC20-06M 6 GRC25-10M 10 GRC32-12M 12
GRC12-08M 8 GRC20-08M 8 GRC25-12M 12 GRC32-14M 14
GRC20-10M 10 GRC25-14M 14 GRC32-16M 16
GRC20-12M 12 GRC25-16M 16 GRC32-18M 18
GRC20-14M 14 GRC25-18M 18 GRC32-20M 20
GRC20-16M 16 GRC25-20M 20 GRC32-25M 25
Hyd Chucks Reducer
{ N
- It -—
1 12
I
D !
d dl
' i
Y
L .
Code No. d dq I Iy Code No. d dj It ) Code No. d d I Iy
82%8% 12 % 0 2 8RK%8—12M 20 ]g 5 25 GRK32-09M | 32 9 645 3
- RK20-16M ]
GRK12-04M 4 GRK20-17M 17 GRK32-10M 10
GRK12-05M 5 GRK20-18M 18 GRK32-11M M
Eay : GRK22-03M | 22 3 B3 25 GRKS2-12M 12
GRK12-08M 8 GRK22-04M 4 ' GRK32-13M 13
GRK12-09M 9 gﬁggggm g GRK32-14M 14
RK22- §
GRK20-02M | 20 2 58 25 GRK22-08M 8 GRKS2-15M 15
GRK20-03M 3 GRK22-10M 10 GRK32-16M 16
chem | ed | o |
GRK20-06M 6 GRK22-16M 16 GRK3Z-18M 18
SRKzg—gém ! GRK22-18M 18 GRK32-19M 19
RK20- GRK32-20M 20
GRK20-03M 9 GRK32-03M | 32 3 645 3
GRK20-10M 10 GRK32-04M 4 GRK32-22M 2
GRK20-11M 1 GRK32-05M 5 GRK32-25M 25
GRK20-12M 12 GRK32-06M 6
GRK20-13M 13 GRK32-07M 7
GRK20-14M 14 GRK32-08M 8

13



Hydraulic Mandrel Arbors — HSK — Face Mill

\.

Clamping screw e o

to the centric u-exact voltage

Dk

R

Code No. d dy l )

HSK63A-GFHC22-050 22 48 50 19 4003 08300
HSK63A-GFHC22-110 22 48 110 19 4003 09700
HSK63A-GFHC27-075 27 53 75 20 4003 00900
HSK63A-GFHC32-100 32 60 100 20 4003 03700

Hydraulic Mandrel Arbors — HSK — Side Cutter

I [
- Clamping screw

Code No. dq do lq lo | I3 Gy

HSK63A-GFHC30-138 30 80 58 | 80 | 138 | M12 | 400316500
HSK63A-GFHC35-138 35 80 58 | 80 | 138 | M12 | 4003 16600
HSK63A-GFHC40-148 40 80 58 | 90 | 148 | M12 | 4003 16700
HSK63A-GFHCA40-198 40 80 58 | 140 | 198 | M12 | 400317000
HSK63A-GFHC60-118 60 | 100 58 | 60 | 118 | M12 | 4003 16800
HSKE3A-GFHC80-118 80 | 150 58 60 | 118 | M12 | 4003 16900

14



Hydraulic Mandrel Arbor-HSK-C ﬂSONDEﬁ

Clamping screw

Code No. dy dp G h | I I3
HSK-63C-FHC22-62 22 44 - 30| 32 | 62 | 400300100
HSK-63C-FHC22-63 22 46 | M8-LH | 31 | 31,5| 62,5 | 4003 08900

15



Hydraulic Mandrel Arbors—SK50

Clamping screw
12

- T

! !
dld2 d3

Dk

R

Code No. dy dp d3 I I2 I3

SK50-GFHC12-083 12 23 | 70 | 8325 | 25 | 108.25
SK50-GFHC14-083 14 25 | 70 | 8325 | 25 | 108.25
SK50-GFHC19-083 19 30 | 70 | 8325 | 25 | 10825
SK50-GFHC3175-083 3175 43 | 70 | 8325 | 25 | 108.25
SK50-GFHCA4445-083 4445| 55 | 70 | 8325 | 25 | 108.25

Hydraulic Mandrel Arbors—SK50 Long Type

— Clamping screw

12

[

[

. d_l d2 d3

!

Code No. dy dp | d3 I ) I3

SK50-GFHC13-120 8 16 | 60 80 32 112
SK50-GFHC13-120 13 19 | 60 80 40 120
SK50-GFHC16-140 16 26 | 60 80 60 140
SK50-GFHC22-170 22 32 | 60 80 90 170
SK50-GFHC27-190 27 37 | 60 80 | 110 190
SK50-GFHC32-210 32 42 | 60 80 | 130 210
SK50-GFHC40-210 40 50 | 60 80 | 130 210

16



Hydraulic Mandrel Arbors — SK50

\,

®

I

Clamping screw

for centric u—precise clamping

i
!

dl d2 d3

!y
1

Dk

R

Code No. di do d3 I oy
SK50-GFHC22-150 22 32 60 80 150
SK50-GFHC27-200 27 37 60 80 | 200
SK50-GFHC32-200 32 42 60 80 | 200
SK50-GFHC40-220 40 50 60 80 | 220
SK50-GFHC50-250 50 60 60 80 | 250

Hydraulic Mandrel Arbors — Cylindrical

Clamping screw

dz2 di di
! !
!
\. J
Code No. d do d3 l Y] L
CYL20-FHC1992-200 20 28 19.92 | 30 | 200 280
CYL20-FHC1999-200 20 28 1999 | 30 | 200 280
CYL30-FHC3175-205 30 55 31.75 | 40 | 205 260
CYL30-FHC32-205 30 55 32 40 | 205 260
CYL30-FHC32-250 30 55 32 40 | 250 305
CYL30-FHC40-210 30 60 40 40 | 210 265
CYL30-FHC40-250 30 60 40 40 | 250 305
CYL30-FHC4445-210 30 65 4445 | 40 | 210 265

17



ANCA M/C - Grinding wheel Arbors ])SONDER

ANEM

CNC MACHINES

Code No. 01 dy I Iy " A M thr:gzsoet c;:f(l)stmszzf
HSK40F-GWA32-055 32 50 33 55 38 17 M32x1.5 0x 3x 2x
HSK40F-GWA32-072 32 50 33 72 55 1x 2x 4x
HSK40F-GWA32-095 32 50 33 95 78 2x 2x 5x
HSK50F-GWA3175-055 31.75 55 35 55 38 17 M32x1.5 0% 3x 2x
HSK50F-GWA3175-068 31.75 55 35 68 51 1x 2x 3x
HSK50F-GWA3175-078 31,75 55 35 78 61 1x 2 5x
HSK50F-GWA3175-085 31,75 55 35 85 68 1x 3x bx
HSK50F-GWA3175-095 31.75 55 35 95 78 2x 2x 5x
HSK40F-GWA3175-038 31.75 50 " 38 21 17 M32x1.5 0Ox 1x 3x
HSKA0F-GWA3175-068 31.75 50 " 68 51 1x 2x 3x
HSK40F-GWA3175-078 31.75 50 " 78 61 1x 2x 5x
HSK40F-GWA3175-085 31.75 50 " 85 68 1x 3x bx
HSK40F-GWA3175-095 31.75 50 11 95 78 2x 2x 5x

ANEA. ) 5

CNC MACHINES ‘-‘

\. /
Code No. ANCA | d Iy I G
AN30-GWA3175-038 30 | 3175 | 38 | 53 | M32x15
AN30-GWA3175-038 30 | 3175 | 55 | 70 | M32x15
AN30-GWA3175-070 30 | 3175 | 70 | 8 | M32x15
AN30-GWA3175-085 30 | 3175 | 8 | 100 | M32x15

18



HAWEMA M/C - Grinding wheel Arbors

DYk

’\, , = 12
haller i
HAWEMA '
=1 i
«
v G
£ 1
1
L I
.
Code No. dq do ) Iy G
HSK50A-HGWA20-080 20 40 40 80 | M20x1
HSK50A-HGWA20-100 20 40 60 | 100 M20 x 1
HSKH50A-HGWA20-115 20 40 75 115 M20 x 1
HSK50A-HGWA20-125 20 40 85 125 M20 x 1
HSK50A-HGWA20-140 20 40 100 140 M20 x 1

ISOG M/C - Grinding wheel Arbors

p
1S0G”
b
L
n L 12 __
13 =
\.
Code No. dq dp ds G It 9 I3 L
HSK50F-IGWA20-38/48 20 35 42 M20x1 38 48 86 106
HSK50F-IGWA20-36/50 20 - 33 M20x1 36 50 86 106
HSK50F-IGWA20-38/75 20 - 33 M20x1 38 75 113 133
HSK50F-IGWA20-38/100 20 - 33 M20x1 38 100 138 158
HSK50F-IGWA20-38/124 20 35 42 M20x1 38 124 162 182
HSK50F-IGWA20-58/28 20 35 42 M20x1 58 28 36 106
HSK50F-IGWA20-58/60 20 35 42 M20x1 58 60 118 138
HSK50F-IGWA20-58/90 20 35 42 M20x1 58 90 148 168
HSK50F-IGWA20-150/48 20 35 42 M20x1 | 150 48 198 218

19



Rollomatic M/C - Grinding wheel Arbors

R roLomaric’ [

Dk

R

(o]
b G
!
!
\. 7

Code No. dj do ) It G
HSK50RO-GWA20-106 20 50 80 106 | M20 x 1
HSK50RO-GWA20-077 20 50 51 77 | M20 x 1

SCHNEEBERGER M/C - Grinding wheel Arbors

,

locknut
FOOF-407F.00

=1)without locknut |

v

Code No. d d2 h | I I3 R Gy

HSK50SC-GWA20-077 20 | 70 | 32 | 45| 77| 35 | M20xI
HSK50SC-GWA20-097 20 | 70 | 32 | 65| 97 | 35 | M20xI
HSK50SC-GWA20-102 20 | 70 | 32 | 70| 102 | 35 | M20x1
HSK50SC-GWA20-117 20 | 70 | 32 |8 | 117 | 35 | M20xI
HSK50SC-GWA20-127 20 | 70 | 32 | 95| 127 | 35 | M20x1
HSK50SC-GWA20-137 20 | 70 | 32 |105| 137 | 35 | M20xI
HSK50SC-GWA20-162 20 | 70 | 32 [130 | 162 | 35 | M20x
HSK50SC-GWA20-177 20 | 70 | 32 145 ] 177 | 35 | M20x1

20



ULMER +REINECKER M/C - Grinding wheel Arbors I)SONDEﬁ

(" with ring set @50 and ring set ¢35 - 12

HULMER

WERKZEUGSCHLEIFTECHNIK

HSK-REINECKER _

=

Code No. di | dg | I I G

HSK50RE-GWA20-040 20 50 40 66 | M20x1
HSK50RE-GWA20-060 20 50 60 86 | M20x1
HSK50RE-GWA20-085 20 50 85 111 | M20 x 1
HSK50RE-GWA20-110 20 50 | 110 | 136 | M20x 1

e ——

u-'.
e

}.'_'_-'

ok

=i

&
R
-

21



WALTER M/C - Grinding wheel Arbors

—a r

-
w WALTER

DYk

| 2
B |
° I
o T =
(% ?8)’ —::G el
T L%
2
| R
SWS50
N
Y J
Code No. dq lq )
HSK63F-GWA16-167 16| 167 | 110
HSK63F-GWA30-167 30 | 167 | 110
HSK63F-GWA35-167 35 | 167 | 110
HSK63F-GWA40-167 40 | 167 | 110
HSK63F-GWA5B0-167 50 | 167 | 110

WALTER M/C - Grinding wheel Arbors

/—" - oY
u WALTER
=] o |
= £.||.
Code No. dq 1 D)
HSK40C/50-GWA20-080 20 80 52

22



Grinding wheel arbors—HSK-E I)SUNDEﬁ

-

HSK-E

-

Code No. d1 d2 G |1 |2 |3 L
HSK50E-GWA20-080 20 35 | M 20x1 28 27 | 55 80
HSK50E-GWA20-110 20 35 | M 20x1 28 57 | 85 110
HSKE0E-GWA20-111 20 35 | M 20x1 38 48 | 86 m
HSK50E-GWA20-107 20 35 | M 20x1 27 55 | 82 107
HSK50E-GWA20-137 20 35 | M 20x1 27 85 | 112 137
HSK50E-GWA20-145 20 40 | M 20x1 345 | 85 | 1195 | 1445
HSK50E-GWA20-127 20 50 | M 20x1 42 60 | 102 127
HSK50E-GWA20-126 20 50 | M 20x1.5 26 75 | 101 126
HSK50E-GWA20-114 20 45 | M 20x1 44 75 | 109 114
HSKB0E-GWA20-151 20 50 | M 20x1.5 26 | 100 | 126 151
HSK50E-GWA20-135 20 50 | M 20x1 50 60 | 110 135
HSK50E-GWA20-175 20 50 | M 20x1 50 | 100 | 150 175
HSK50C-GWA20-098 20 40 | M 20x1 34 38 | 725 97.5
HSK50C-GWA20-125 20 40 | M 20x1 345 | 65 | 995 | 1245
HSK50C-GWA20-145 20 40 | M 20x1 345 | 85 | 1195 1445
HSK63E-GWA20-136 20 34 | M16x1 49 55 | 104 136
HSKB3E-GWA20-151 20 34 | M 16x1 49 70 | 119 151
HSKB3E-GWA20-161 20 34 | M 16x1 49 80 | 129 161
HSK63E-GWA20-153 22 60 | M 20x1.5 46 75 | 106 153

23



Grinding wheel arbors — HSK-E Short

Dk

R

Code No. dj do d3 dy I ) I3 L Gy | Gy
HSK50E-GWA20-091 20 60 30 50 42 124 | 15| 91 M4 | M5
HSK50E-GWA20-111 20 60 30 50 62 |24 | 15| 111 M4 | Mb
HSK50E-GWA45-078 45 108 55 98 50 |28 | 15| 78 M4 | M5
HSK50E-GWA51-078 51 108 61 98 50 |28 | 15| 78 M4 | Mb
HSK63E-GWA20-147 20 53 32 -— 1100 |15 | 74 | 147 M6 | M6
HSK63E-GWA20-148 20 53 36 -— 1100 [16 | 74 | 148 | M6 | M6
HSK63E-GWA20-164 20 53 36 -— 1100 [14 | 92 | 164 | M6 | M6
Grinding wheel arbors — HSKG63E Long
{
13

-_

3
N
wI
5 T
\.
Code No. di | g | dg | M1 || K
(h6) (£0,1)
HSK63E-GWA20-15-147 | 20 | 48 | 32 | 100 | 15 | 147
HSK63E-GWA20-16-148 | 20 | 48 | 36 | 100 | 16 | 148
HSK63E-GWA20-14-164 | 20 | 48 | 36 | 118 | 14 | 164

24



Morse Taper — HSK Tool Mounting Holders

ME
DIN 228 A

HSK-A clamping cartridge
\.

HEK

Dk

R

Code No. Taper HSK lq

MT4-HSK 32A-040 MT 4 HSK-A32 40
MT4-HSK 40A-045 HSK-A40 45
MT4-HSK 50A-060 HSK-A50 60
MT4-HSK 63A-070 HSK-AB3 70
MT4-HSK 80A-080 HSK-A80 80
MT4-HSK100A-100 HSK-A100 100
MT5-HSK 32A-040 MT b HSK-A32 40
MT5-HSK 40A-045 HSK-A40 45
MT5-HSK 50A-060 HSK-AB0 60
MT5-HSK 63A-070 HSK-A63 70
MT5-HSK 80A-080 HSK-A80 80
MT5-HSK100A-100 HSK-A100 100

Intermediate sleeve with HSK-A clamping cartridge with mounted Coolant tube

Code No. Taper HSK lh

MT5-HSK 32AC-040 MT 5 HSK-A 32 40
MT5-HSK 40AC-050 HSK-A 40 50
MT5-HSK 50AC-060 HSK-A 50 60
MT5-HSK 63AC-080 HSK-A 63 80
MT5-HSK 80AC-090 HSK-A 80 90
MT5-HSK100AC-110 HSK-A100 110
Code No. Taper HSK Iy

MT5-HSK32E-050 MK 5 HSK-E 32 50
MT5-HSK40E-060 HSK-E 40 60
MT5-HSK50E-070 HSK-E 50 70
MT5-HSK63E-080 HSK-E 63 80

25



ISO 40 & 50 — HSK Tool Mounting Holders

Execution: Admissible concentricity deviation of the external taper in relation to the internal taper 0,003 mm.

-

\.

J

Dk

R

Code No. Taper | HSK-A/C/E HSK-F l G
do
SK40-HSK25-045 SK 40 25 32 45 16
SK40-HSK32-055 32 40 55
SK40-HSK40-075 40 50 75
SK40-HSK50-095 50 63 95
SK40-HSK63-110 63 80 110
SK40-HSK80-150 80 100 150
SK40-HSK100-150 100 120 150
SK50-HSK32-075 SK 50 32 40 75 24
SKb0-HSK40-075 40 50 75
SK50-HSK50-075 50 63 75
SK50-HSK63-075 63 80 75
SK50-HSK80-100 80 100 100
SKb0-HSK100-150 100 125 150

Code No. Hz?_F I M
SK40-HSK40F-060 SK 40 40 60 16
SK40-HSK50F-060 50 60
SK40-HSK63F-075 63 75
SK40-HSK80F-075 80 110
SK50-HSK40F-060 K80 | 40 | 60 | 24
SKb0-HSK50F-060 50 60
SKb0-HSK63F-075 63 75
SK50-HSK80F-075 80 75

26



Angle head, Spindle e cut

swiss MADE

AMHZ Ranbow Line

HSK 100
40 KW

TRH 500
PIBOMULTI 5.A, - JAMBE-DUCOMMUN 18 - CH-2400 LE LOCLE SWITZERLAND - TEL +41{0)32 833 06 33 - FAX +41(0)32 833 06 30

27



- AZ 220198
- OFEIROI IR |
- Zof Blol=0] €A S| 75

- J12fRld XI5 ZS = PS =4 8l0] x| 7t

Jgfelg! x| pS

-0.5-6.0mm ZZ9 A2

- HE T1etlg HAlo e EX|
- AHOIMS BHY BEE =X

HE| AH|0|M a2l M4 MS-12

A 75 23 XA 0 1.85 mm - 12.00 mm
= Z20]: 1,000 mm

12-2 2 AHE) 12-3 3 ATE) MEf 7ts

- 42 B2E 7cd 2% 2|02R01Y8

- H&E 1201d KA = EX| 7ts

- S5E 20[2 E2 XF0| met MFE A
(=14 2.0

28



Tool Presetter as

alfa-sys

alfa—= Z2|ME2 EX
£2lM (Independence)
%|X3} (Optimization)
gk (Increased productivity)

HIE HZ (Cost saving with alfa—set)

]

alfa-set 44

37 =8 YA

alfa—clamp

239

alfa—set 33/3bswift

i1gd

alfa—set 23/44/64/66

alfa—set TwinCam?2|
== =N =

29



WattPilote

Q Digital Way Group

’7ts 23, 3+ 0i2 & IkE BLEE £8M - WattPilote

QETIUNS ZX|AQ| 713 B, 37 01, I 7ES 2 Ik 91X 7|52 +8sUC

QIEMUS2 ATSO|LY %EH% Sofl A EE= HRES

7tS oHi, 3719 02 A O 55 E46t0 S712| 7

ol
rE
lgy
g“

A L0] X

- L

o
A
Cl

(<]
AH2 HAMESHHA “X|7h-|—rﬂ1 QFEF(EMR, 25, 714X
=l

N
oz

S EMUL.

H—fQI HEZ #JE0] BF 57 HIM, A2 T2Md, EEHA QIHT0| AT} FH| 9| ZHE LHY| 2X|EL

Ct
o TS, TAHL, L0|= &) C2RE JeS X

ZQ8H% WS 51
QIETIUSIL 50kHZz| ME2] FIp4-2f
A0 0.01%7HK| 8F £H0| 7tsotH 2
SR MI7|EH(AC, DC) 71 == ZE O
HE0| 7ksgiuct.
Lot 250w E 100kw 2EIZEX] ME0|
7ts&ULt
AlA|ZH ZX] Instantaneous detection MF ZHEE
Contact tool/part
Detect end of machining
Missing tool
AIA|ZH ZX] Instantaneous detection 02 ZHEE
Contact tool/part

CNC Mgt & X}t

QIENIYS B F2 EE HAYH|0|AQ
i S+ O 3 IS Aot A
A= RS

HE| ATS o=

HE| AHS o|lE= S7MEE dAloH
015'-1"4 DLEZS Ml 855
EEUC ofX[2 AETIAUSE ﬁ_
7f3%§'§ SAO| FAIE 5= S’AQLIE I
QIEMIAUHS 7t25t HEE OI'J_)_El_l
IXAUC ZXHHOZ 1879 712= |
7t20 © et el EE Ik 7:.*Xl o
AU,

Detect end of machining

“71|E| '—Illf HE 7[A0f OfF EA 2X|
/tsott 12teld S88 A Hd0HE,
Hejd SE0IA gt /0] Tt X=X,
e 589 8= 67 HAl S 7|1E0
xOIRP} Sore Yi2E XS sEL

30



SafePilote ‘:‘ Digital Way Group

2%t 7|72] OX] BH L AEf BLIEY 22M - SafePilote

MO|EIIASH2 3% Ts ML Z2HMZ
AL SSE Qe 24O 28H
JFS 204l YU,

(L

B

= 32,
FA

il

nl]

= SHYOIM 7 TUA YHIE
AMS/STH/TAHO| 010] &2
HEUH. 0|0 4| C-2Et
HIE0| S7t&UL. =2, MO|ZItY
25| 0okl ZefUt. 12U

W=7 HB|E A6t = = ¢

W5 & lsU,

e
0x
o

o

0%
|’0II

> oY
40
N

_{'—_HJ
=l

O
-

= r
ol =

oo
mjo ot

AN njo oz
onolo
%

=

= Axis

718 5 YYEE T2 Mt BHS NoiATIE

72 9IS SILYLICT. 0] AAHS |7} 2 g

TH EUS = o © - —E_I-OII: 1l 2 AJ2
= = — = —_ = —

X5t BA0IN TS TS EABLIC Hl0|E 24 m

HIO|BIfeI0] =2 RIZE S0 1 T4 A =

o —
2o 4 JlO0), BE AHS £21 3 TS A= 1|01 Bearings

=

37| AlAgI0] H|2alo) KA

- s
- AT I U SEC T -AR S
- ATS &y - A0IX]
- AH|9] Z4E 7|50l Set-up K| KRR -2
- HI7KEAIZE &3
- e

o2 MOIZOIAHACZ UA| & & UFLL.

31



’\TECH -

Technical Solution Provider

(&) #l o] &

www.ktechtools.com




